
NÚMEROS COMPLEJOS:
Forma polar o 

trigonométrica (parte 2)
ÁLGEBRA cbc (INGENIERÍA)

EFRAÍN CAMACHO



EJERCICIO


𝒛 =
−𝒃 ± 𝒃𝟐 − 𝟒𝒂𝒄

𝟐𝒂
→ 𝒛 =

−(−𝟐) ± (−𝟐)𝟐−𝟒(𝟏)(𝟓)

𝟐(𝟏)
→ 𝒛 =

𝟐 ± 𝟒 − 𝟐𝟎

𝟐
→

𝒛 =
𝟐 ± −𝟏𝟔

𝟐
→ 𝒛 =

𝟐 ± 𝟏𝟔(−𝟏)

𝟐
→ 𝒛 =

𝟐 ± 𝟒𝒊

𝟐
→

𝒛𝟏 =
𝟐 + 𝟒𝒊

𝟐
= 𝟏 + 𝟐𝒊

𝒛𝟐 =
𝟐 − 𝟒𝒊

𝟐
= 𝟏 − 𝟐𝒊



EJERCICIO


𝒛 =
−𝒃 ± 𝒃𝟐 − 𝟒𝒂𝒄

𝟐𝒂
→ 𝒛 =

−(𝟏) ± (𝟏)𝟐−𝟒(𝟏)(−𝟓 − 𝟓𝒊)

𝟐(𝟏)
→

𝒛 =
−𝟏 ± 𝟏 + 𝟐𝟎 + 𝟐𝟎𝒊

𝟐
→ 𝒛 =

−𝟏 ± 𝟐𝟏 + 𝟐𝟎𝒊

𝟐
𝟐𝟏 + 𝟐𝟎𝒊



EJERCICIO


𝟐𝟏 + 𝟐𝟎𝒊

𝟐𝟏𝟐 + 𝟐𝟎𝟐 = 𝟒𝟒𝟏 + 𝟒𝟎𝟎 = 𝟖𝟒𝟏 = 𝟐𝟗

𝒄𝒐𝒔 𝒂𝒓𝒈 𝒘 =
𝒂

|𝒘|
→ 𝒄𝒐𝒔 𝒂𝒓𝒈 𝒘 =

𝟐𝟏

𝟐𝟗

𝒔𝒆𝒏 𝒂𝒓𝒈 𝒘 =
𝒃

|𝒘|
→ 𝒔𝒆𝒏 𝒂𝒓𝒈 𝒘 =

𝟐𝟎

𝟐𝟗

𝒛 = |𝒘|
𝟏
𝒏 𝒄𝒐𝒔

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏
+ 𝒊𝒔𝒆𝒏

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏



EJERCICIO


𝟐𝟗

𝒛 = |𝒘|
𝟏
𝒏 𝒄𝒐𝒔

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏
+ 𝒊𝒔𝒆𝒏

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏

𝒛𝟎 = 𝟐𝟗
𝟏
𝟐 𝒄𝒐𝒔

𝟎, 𝟕𝟔𝟏 + 𝟐(𝟎)𝝅

𝟐
+ 𝒊𝒔𝒆𝒏

𝟎, 𝟕𝟔𝟏 + 𝟐(𝟎)𝝅

𝟐
→

𝒛𝟎 = 𝟐𝟗 𝒄𝒐𝒔
𝟎, 𝟕𝟔𝟏

𝟐
+ 𝒊𝒔𝒆𝒏

𝟎, 𝟕𝟔𝟏

𝟐
→

𝒛𝟎 = 𝟐𝟗 𝒄𝒐𝒔 𝟎, 𝟑𝟖𝟎𝟓 + 𝒊𝒔𝒆𝒏 𝟎, 𝟑𝟖𝟎𝟓



EJERCICIO


𝟐𝟗

𝒛 = |𝒘|
𝟏
𝒏 𝒄𝒐𝒔

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏
+ 𝒊𝒔𝒆𝒏

𝒂𝒓𝒈 𝒘 + 𝟐𝒌𝝅

𝒏

𝒛𝟏 = 𝟐𝟗
𝟏
𝟐 𝒄𝒐𝒔

𝟎, 𝟕𝟔𝟏 + 𝟐(𝟏)𝝅

𝟐
+ 𝒊𝒔𝒆𝒏

𝟎, 𝟕𝟔𝟏 + 𝟐(𝟏)𝝅

𝟐
→

𝒛𝟏 = 𝟐𝟗 𝒄𝒐𝒔
𝟕, 𝟎𝟒𝟒

𝟐
+ 𝒊𝒔𝒆𝒏

𝟕, 𝟎𝟒𝟒

𝟐
→

𝒛𝟏 = 𝟐𝟗 𝒄𝒐𝒔 𝟑, 𝟓𝟐𝟐 + 𝒊𝒔𝒆𝒏 𝟑, 𝟓𝟐𝟐



EJERCICIO


𝒛 =
−𝟏 ± 𝟐𝟏 + 𝟐𝟎𝒊

𝟐
→ 𝒛 =

−𝟏 ± (𝟓 + 𝟐𝒊)

𝟐
→

𝒛𝟏 =
−𝟏 + (𝟓 + 𝟐𝒊)

𝟐
→ 𝒛𝟏 =

𝟒 + 𝟐𝒊

𝟐
→ 𝒛𝟏 = 𝟐 + 𝒊

𝒛𝟐 =
−𝟏 − (𝟓 + 𝟐𝒊)

𝟐
→ 𝒛𝟏 =

−𝟔 − 𝟐𝒊

𝟐
→ 𝒛𝟐 = −𝟑 − 𝒊

𝒛𝟏 =
−𝟏 + (−𝟓 − 𝟐𝒊)

𝟐
→ 𝒛𝟏 =

−𝟔 − 𝟐𝒊

𝟐
→ 𝒛𝟏 = −𝟑 − 𝒊

𝒛𝟐 =
−𝟏 − (−𝟓 − 𝟐𝒊)

𝟐
→ 𝒛𝟏 =

𝟒 + 𝟐𝒊

𝟐
→ 𝒛𝟐 = 𝟐 + 𝒊



Gracias por tu atención


